Fig. 1 Schematic representation  male generative nucleus (n)

of male and female gametogen- @ )
eses in Arabidopsis. Two post- @ vegetative nucleus (n)
meiotic mitoses give rise to male _’

gameles (sperms), whereas three

rounds of postmeiotic division @ - >

are required for the formation of

the embryo sack mitosis 1 mitosis 2 [ fertilization ]

[ meiosis ] (n)
sperm
== Endosperm
female central cell nucleus (2n) (3,3
- -‘. polar nuclei
(n) (n) -> Er?zk:')yo
mitosis 1
mitosis 2 egg (n) _

mitosis 3



